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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the corvect choice on your answer sheet.

0.

10--

11-
12-
13-
14-
15-

(4) best fits each space. Then mark the correct choice on your answer sheet. |
2 d o SRS

When the meeting was over, the audience -——-——----,

1) dencted 2) deformed 3) dispersed 4) delineated
Many countries ------—--- the Killing of innocent people.

I) granted 2) deplored 3) detained 4) grounded
The regulations ————— that everything hasto be based on safety standards.

1) rejoin 2) specify 3) per¢cive 4) matenalize
UN officials ~====mnee- between the rebel fightérs and government.

1) mediated 2) debated 3) persuaded 4) negotiated
We have the computer at our --—---- -= for the whole month.

1) vacancy 2) disposal 3) treatment 4) maintenance
The —-emmmenee of the economic crisis was that many factories were closed down.

I') upshot 2) erosion 3) misconduct 4) circumstance
Many refugees crossed the ---—----- between Iraq and Turkey.

1) scratch 2) frontier 3) drawback 4) threshold
All the cars are tested for possible -——--—-- before they leave the factory.

1) defects 2) factions 3) ingredients 4) diversities
Providing good service is - to a successful business.

1) exposed 2) intense 3) intrinsic 4) eredulous
The old idea that lunguage learning is not a matter of repetition is no longer —-————--,
1) proficient 2) analogous 3) constant 4) tenable

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or

|

Ecology is the study of the relationship of plants and animals to their environment, and to
one another, The word ecology (11) ===aaeaam- the Greek word oikos, meaning house or place to
live, and from the word /ogos, meaning science or study. The word was first promulgated by
the German naturalist Ernst Haeckel in 1869 and used by Charles Darwin (12) --===vee- , but 1t
was in limited use even earlier as evidenced by the writings of the American naturalist and poet
Henry David Thoreau.

Man pollutes the air he breathes and the water he drinks. His concern with the problem of
pollution may be purely an environmental issue (13) ===emevee- an ccological issue in that he
wants clean, noncorrosive air and water and is concerned mainly with the quality of the
physical environment. (14) -=---eee-- the focus of his concern becomes the plants and animals
that are contaminated, then the issue (15) —-—----- he is dealing is ecological. Some of our
current problems are primarily environmental, but the majority and by far the most complex of
our problems are of an ecological nature.

1).derives of 2) is derived of 3) is derived from 4) deriving from
1) shortly late 2) short lately 3) short afterward 4) shortly thereafter
1) rather 2) than it is 3) rather than 4) rather there is
1) Although 2) If, however, 3) By contrast, 4) Nevertheless,

1) in that 2) for which . 3) from that 4) with which
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Part C. answer the questions

Directions: Read the question and choose the best choice (1), (2), (3) or (4). Then
mark it on your answer sheet.

Personal experience indicates that the Geospatial Information (G1) users are inclined to
believe that the accuracy of their spatial data is better than it really is. This sentence
shows that the accuracy of data is:

1) lower than what GI users expect 2) not relied on by the GI users

3) higher than what G1 users think 4) good enough to work with

A 3D scanner is a device with an active sensor than analyzes a real-world object or
environment to collect data on its shape and possibly its appearance (i.e. color) “Active”
here means:

1) The scanner emits energy 2) The scanner is used routinely

3) The sensor is used routinely 4) The sensor receives a lot of energy

The scans from the 3D scanner have to be brought into a common reference system, a
process that is usuaily called alignment, and then merged to create a complete model. A
synonym ior the word “Alignment™ can be:

1) Georeferencing 2) Mosaic 3) Merging 4) Registration

I =Sateliite Geodesy™ is defined as the measurement of the form and dimensions of the
Earth, the location of objects on its surface and the figure of the Earth’s gravity field by
means of satellite technigues, then what is not measured in “Satellite Geodesy”?

1) Earth's dimensions 2) Surface gravity field

3) Earth’s size and shape 4) Position on the Earth’s surface

GPS/INS refers to the use of GPS satellite signals to correct or calibrate a solution from
an Inertial Navigation System (INS). This means that:

1) INS solution is already correct 2) GPS is an aiding system to INS

3) INS is an aiding system to GPS 4) GPS satellite signals are not correct
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Part D. Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3) or
(4). Then mark it on your answer sheet.

Passage I:

Digital Elevation Models (DEM) may be prepared in a number of ways, but they are frequently obtained
by remote sensing rather than direct survey. One powerful technique for generating digital elevation
moedels is interferometric Synthetic Aperture Radar (SAR): two passes of a radar satellite (such as
RADARSAT-1), or a single pass if the satellite is equipped with two antennas (like the SRTM
instrumentation), suffice to generate a digital elevation map tens of kilometers on a side with a resolution
of around ten meters. Alternatively, other kinds of stereoscopic pairs can be employed using the digital
image correlation method, where two optical images acquired with different angles taken from the same
pass of an airplane or an Earth Observation Satellite (such as the HRS instrument of SPOTS or the VNIR
band of ASTER). In 1986, the SPOT 1 satellite provided the first usable elevation data for a sizeable
portion of the planet's landmass, using two-passes stereoscopic correlation. Later, further data were
provided by the European Remote-Sensing Satellite (ERS) using the same method, the Shuttle Radar
Topography Mission (SRTM) using single-pass SAR and the ASTER instrumentation on the Terra

satellite using double-pass stereo pairs,

21- The best title for this paragraph can be:
1) interferometric Synthetic Aperture Radar
2) Shuttle Radar Topography Mission
3) Earth Observation Satellite
4) DEM Generation

22- Direct survey ...... voseswes used to generate DEM.
1) should not be 2) is extensively 3) is seldom 4) 1s occasionally
23- The shuttle Radar Topography Mission takes advantage of using .............. to generate
DEM. |

1) two passes of SAR satellite

2) Terra satellite using double-pass stereo pairs

3) one single pass of radar data with two antennas

4) digital image correlation method with two optical images

24- ERS has used .............. to generate DEM.
1) single-pass stereo pairs 2) single-pass SAR
3) double-pass stereo pairs 4) double-pass SAR

25- The HRS instrument of SPOTS acquires
1) one optical image from each pass of satellite
2) one radar image from each pass of satellite
3) two radar images from a single pass of satellite
4) two optical images from a single pass of satellite
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Passage 11:

The Introduction, replete with images and illustrations, is designed to cover the meaning embodied in the
concept of "remote sensing”, some of the underlying principles (mainly those associated with the physics
of electromagnetic radiation [other related topics are deferred until Sections 8 and 9]), a survey of the
chief satellite programs that have depended on remote sensors to gather information abo;n the Earth, axld
some specialized topics. Emphasis is placed on the Landsat series of satellites that, starting in 1972, have
provided a continuous record of the Earth’s land (and some ocean) surfaces using the multispectral
approach, In this Introduction, and most of the Scciions that complete the Tuiorial. as well as several of
the Appendices, each page will be individually summarized at the top and all illustrations will have

captions accessible by clicking at the lower right of each display.

This paragraph is extracted out of a — -

1) Book 2) Tutorial 3) Technical paper 4) Landsat manual
Landsat satellites are discussed here because they —
1) have started a long time ago

2) have sensors with different spatial resolutions

3) record high resolution images of Earth’s surface

4) are the most important satellites which use multispectral approach

Which aspect of remote sensing is not going to be discussed in this text?

1) The concept 2) The application

3) The principles 4) The important programs

In order to read explanations about the illustrations in this text one should:

1) look at the top of each page

2) search for them in several Appendices

3) click on the lower right corner of the figures or tables

4) refer back to the Introduction where images and illustrations are

Sections 8 and 9 of this text will cover a more in depth discussion of remote sensing:
1) Concept 2) Main programs 3) Sensors 4) Principles
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